{omMnnekTywLwune KOn-BO
bont M8x20 18 wr.
bont M8x35 2 LWT.
bont M10x40 2 WWT.
bont M10x120 (140) 2 LWT.
lavika M10 2 WT.
Lllanb6a 8 20 wr.
Lllan6a 10 6 LWT.
KpenéxHbii KpoHLITENH 1 1 wr.

\Q c~>,\

¢

\® LN
KpenéxXHbii KPOHLLTENH 2 1 wr.
KpenéxHas nnaHka 3 2 LWT.

!

Brynka @(20-22) L15 4 p 2 WT.
KpenéxHoe Kpbi/io 5 2 LWT.

QB

TOYOta Hilux apT. 24.90-24.93

)

CpegHee Bpems

YCTaHOBKM : 40 MUHYT

BEC KOMNNekKTa 3alunTbl: crasb 2um - 19.6 kr
anoMUHUA 4MMm - 13.9 Kr

BEC KOMNneKkTauuu: cTanb - 3.5 kr

MOMEHT 3aTXKKN: M8 - 15.0 Hm

M10 -29.0 Hm

QM QNQCAUHME

DETOKOMNOMEWTEI 43 (1




